MTH 132, Section 13 Quiz 3 Feb 3rd, 2017

Name: ID:

Clear your desk of everything except pens, pencils and erasers. Show all work clearly and in order. No
notes, phones and calculators. You have 10 minutes to finish the test for 10 points.

ONLY THE PROBLEMS ON THIS PAGE COUNT. The problems on the back are not

required, but will be graded if you finish them. ¥
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(a) (2 points) Is f(x) continuous at r=17
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(b) (2 points) Is f(z) differentiable at = = 27 3 >x
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2. (4 points) Let f(z) = 51~ use THE DEFINITION OF DERIVATIVE to find the derivative

function f'(z)
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e In problem 1, find
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rz—1

e In problem 1, find A_>) ot
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e In problem 2, find the equation of the tangent line of the curve of f(z) = 7, at the point

(1,3).

S
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e Suppose function h(z) is continuous on [0,5]. Suppose h(0) = 2,h(1) = 0,h(4) = —3. For
what value of N, the must be a ¢ € (1,4) such that h(c) = N7 (Hint: apply Intermediate
Value Theorem)

AN=15
B N =2
&N =-2

PN =-15
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